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Area of Rz:ojwh\glté

Let’s consider the Pllwving sifuatim: ,
Suporse o travelled at 25% o Ysecnds. thw far did yow g
; Prswer: b feet.
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The area of Mectmnges ires The ot distan e travelled .
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|V\€W] Area § Distances wdex curves (ﬁemann Swme)

What wonld, e a wore
fealishe sitwahom?

A velooty funchew That Varies e}\v'
CWﬁihMbusb \j:ﬂ’k time. S?e\k?

Dilemma: But hw Ao we

Soppin
find the area under this The e Sl eyt WJPFPJ
Cntve ? Wial distune davelled.

’.ﬂ\sic [dea™ We need o Understand, how {0 compute area
CIves rég\ows. \We do this by " approximatng” e Tegion w’rH»vf
rectangles” and. adding thew aeas (Kieran sums).

You can wse Right Endonint Approximacton, Left Endpoint .
ApproXmADIY 4 Midpiret Agproimabiim

left Rectanglar Pporoxivadiny Method,  (LRAM)
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Right Rectanplar Poporintion Method — (RRfM)
y Sum= AFA o+

. ! - £00) (y=x0) * £ (52) (g,
x v + (%) (% %)

A) A’L A3 B AK [’E(Xl) t f(xz) + g(’%ﬂ

7w e %

Xo
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[Emmil&] Find the A W"r\hﬂ g '; xz1 T x=5 usiny

4 yec an\ﬂleé Wsing @ R4 ML© NMRAM.
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e The e tec lied, the moe acas besi
compwted, and MWNZSA/M% e apprkimattov 0{?%
ATA wnder the, Gudve il be.

Teapezidal, Rule G Apprxination
Area =
| 0% [ £,) + 200+ 2les) + £(6)]

A X X b
){' 1]
0 x}

(Exarnsle) Poproxinac sy ﬁmm Aule for {(x)2 142 using

n=4 @ lf’dma{w) xz1 to x=6G
firen = %E{x,,) t 2{(&) +24(a)+ 2(%3)
AN ])
= < [fOr2of()+ 260+
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